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Before answering the :i'].'th]'*- candidates should ensure that they
have been supplied the correct aud complete question paper. No
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Note : Attempl five questions in all, selecting one
question from each Unit. Question Ne. 1 is
compulsory. All questions carry equal marks
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1. Write short note on the following
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Explain the objects of Cost Accounting.
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Highest In, First Out (HIFO) Method.
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Meaning of Labour Tumover.
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Halsey Plan of wage payment.
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Principles of Apportionment.
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Under and over absorption of overheads.
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Simple Cost Sheet and its meaning.
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Meaning of Memorandum Reconciliation Account.
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UNIT -1
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lain the objects and benefits of cost accounts. What
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are its demerits 7
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. 'hat i : ! materie rol ? Describe its o . , ‘
Mh“ is meant by material contro U' 5. From the following information find out the works

objectives and basic principles.
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cost of a product under Halsey Premium Scheme and

Rowan Premium Scheme :
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Indicate how would you de{\h ith the following in
Cost Accounts: %Z, Actual Time 6 Hours
. S .
N
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BT Rate of wages per hour Rs. 5
(i) Overtime pay T e wed & 5 ®o
- Cost of material of product Rs. 50
IE W e A | 50 Fo
(i) Annual Bonus
Factory overheads on direct wages 200%
affs 74
FLEMT T Tde Aol ) 200%
(iii) Leave wages _
Rate of premium 50% -
g I ‘
dfraw @ =X 50%
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Wt are overheads ? How are they classified ?
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7. In an industry the estimated costs are direct-materials

Rs. 20,000, direct wages @30,3{}0 and" factory
overheads Rs. 5,000. On(?i,%} basis calculate the total
cost of a particular & ct in-which direct materials
Cost Rs. 1,{]{]06 rect ‘wages: Rs. 600 and direct
expenses Rs. 400 and if the factory overheads are

charged on the basis of : (a) direct material; (b) direct

wages; (c) prime cost.
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UNIT - IV

e - IV

8. The metal product company produces a sewing

machine that sells for Rs. 300. An increase of 15% in
cost of materials and 10% in cost of labour is

anticipated.

If the only figures available are given below, whalt
must be the selling price to give the same percentage

of gross profit as before ?

(a) Material casts have been 45% of cost of sales.
(b) Labour costs have been 40% of cost of sales.

(c) Owerheads costs have been 15% of cost of sales.

{d) The anticipated increased costs in relation to the
present sales price would causes a 35% decrease in

amount of the present Gross profit.
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9, State the reasons for disagreement between ithe cost

accounts and financial accounts. Prepare “and

imaginary Reconciliasation Sta@ent
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